20214 XIWX 93 48 AMY (A

07. 08. 09. 10. ®
17. ® 18. ® 19. 20. @

01. @ 02. ® 03. ® 04. ® O05.
1. ® 12.® 13. ® 14. @ 15.

® e

1. [BE] @

36 36
log;36 — 4logs, V2= logs = 1og3T= logs9 = 2

(v2)"

2. [B€] O
(g N+ e g )R)=g(f()+ £ g '(2)=gB)+f (2)=1+3=4

6r—6=5xr—3
r=3

4. [FE] ®
lim{2/(z)+ g(z)}— lim{2/(z)— 4¢(z) }=5limg(z) =7—2 - 1 =5

Tr—> 00 Tr—>00 Tr—>00

limg(z) =1

€r—> 00

lim{4/(z)+2g(z) }+ lim{f(2)—2¢(z) }=5limf(z) =2 - T+ 1 =15

limf(z)=3

€TrT—>00

lim{f(x)+gx)}=3+1=4

5 [B8]1 O

y=a’—2kr+k=2>—2kz+k —K+k=(@—k)’—kF+k
22 —kK+k=—3

K—k—=3=0

wHAl D=1>—4- (=3)=13>0
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6. [3E] ©

k=4,8,122 @ i*=10lmn2

k=49 A< (1,3), (2,2), (3,1)

k=89 7% (2,6), (3,5), (4,4), (5,3), (6,2)
k=129 %42 (6, 6)

3+5+1 9 1

7. [FE]

n(A°NB)=n(AUB =4, n(AUB)=n(0)—n(AUB =20—4=16

n(ANB)=n(4)+n(B)—n(AUB)=15+8—16=7

8. [E]

2sin’0+ 3cosh = 0

2(1 — cos’0)+ 3cosf =0
2c08°0— 3cos#—2=10
(2cosf+1)(cosf—2)=10

— 1< cosf < 1o]B=2 cos@z—%, 0=120" :%ﬂ'

9. [FE]

limf(z) =10]22 a=1

1i@lf(:c):2olgi a—b+c=0,b=c+1
ax2+bx+c=x2+(c+1)x+c=(x+c)(m+1)

lim f(z) = lim wreflarl) —lte_, ._ 4

=1 o1 @+ 1) (@—1) =2
b=c+tl=—3+1=—2
a+tb+c=1—2—3=4

10. [BE]1 ®

P(4) - P(B)=2{P(B)}*=P(4NB)= %
1 1

P(B)= 1 P(A4)= 5

P(AUB)= %4‘ %— %:%
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11. [BE] ©

T _ 5 54_

=T

27, r=23

%)

a3 =ay*17=2+3=6

12. [BE] ®
A2~ B*= (A+ B (A—B)=(22—8z+10) - 2°
meta] 2’9 A4E 100/t

13. [8€] @
y=axr+2

1
r=ay+?2, yzz(x—Q)

1
am+2:—(1’—2), a=—, 2=——
a a a

a=—1

14. [BE] @
1xX5—2X1 1xX4+2x1)_

P 1+2 ’ 1+2 P(1,2)
4—1 3 1
K]/\ﬂ o] 7127 - = =
= AB—’] ]E ] 5_(_1) 6 9
A P2 AUD A AB 289 MY WY y—2=—2c—1), y=—2z+4

whabd yAEL 4o]ct

15. [AE] ®
3 2
flf(a: 1)dx /2f(sc) T

16. [ZB] @
logok < log,(5k+6). log,k* < log,(5k+6)

2
=2+4=6
0

0

+
—2

1y
17

2

1
2

K <5k+6, ¥—5k—6<0
(k—6)(k+1)<0

—1<k<6

kE>o00l8=2 2FHYE= 0<k < 60]C}.
d5 kY Jle+= 1, 2, 3, 4, 5, 69 6700
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17. [A8B1 ®

E(X) =150 %: 90, V(X)=90x %: 36, o(X)=6
P(81 < X < 96)=P 81g90s2s %EQO =p(-15<2<1)

=0.4332+0.3413 = 0.7745

18. [§E] ©

(x—2i)+y(1+axi)=4

(z+y)+(zy—2)i=4

rty=4, zy=2

P+t =(x+y)?—3aylz+y)=4>—-3-2-4=64—24=140

19. [FE]

L= het st
n

limn{f(2+ %)—f(g_ %)}: limf<2+2h) —f(2—h)

n—>Co

h—0 h

_ 21imf(2+2h)—f(2) +1imf<2_]1)_f(2)
h—0 2h h—0 h

f'z)=4z—3, f'(2)=5
3f'(2)=3-5=15

=3/'(2)

2700 oJaf ARRIEES f(x) =2' +az® + b2 UERE 2 9tk
(L) =70 ol AraterSy f(x)9] FHZre 20|t
(Ch =70 9Js AtatgS f(z)o 243k — 20|tk
£ (z) =42* + 2az = 2¢(222 +a)=0
2 AFe x =002 f(0)=b=2

2 2 2

=200 AE2 o 20]E§4 5 t2=—2 =4
a=+4, 2° :—%> 0golB &2 g=—4

flz)=z'"—42*+2, f(1)=1—4+2=—3
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